Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

STATISTICS

The pwceess of Collc(‘;hr\q Al ZENg,

anatqu and tﬂkmv%m “dada.

Measures of Center
MEAN

” A measure of center is a value that ¢ attempts to describe
the central or “typical” value within a set of data.
Common measures of center are the mean, median, and mode.

e The mean is the QV?/YQSIO

¢ To find the mean: Find the sum of the data values.
Then, divide the sum by the number of data values.

of the data.

Find the mean of each data set below.

1. {15,7.24,13, 21} 2. {5,7.2,5,12, 3,8, 14}
15 +7+ 24+ 13+2] 541+ 245+ 1243+48+14

Measures of Center:
MEDIAN

5 e
| S50
=280 _ ? =5 ‘|1
= _j lb g j
e The medianis the mMiddle data value.

¢ To find the median: Order the data from least to greatest. For a list
with an odd number of data values, the median is the middle value.
For a list with an even number of data values, the median is the mean
of the two middle values.

Find the median of each data set below.

3. {15,7,24,13, 21} 4, {5,7.2,5,12, 3,8, 14}
1,13,15,24, 24 2,3,5,5,1,8, 12,14
\n—r

T S+ ‘
| DLz L[]
= [is] L

Measures of Center:
MODE

Note: A data set can have
one mode, several modes,
or no mode. If each value

occurs the same number
of times, there is no mode.

most

¢ The mode is the value (or values) that occurs

bt ten

Find the mode(s) of each data set.

5. {157.2413.21.18.20 oy ypd €

6. {5,7.8,2,512,5,3,8, 14} 5

7. {16,7.4,10,7,13,9.18, 10}

1O
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The_ diff erence  between the  lamest
RANGE | ond swmallest data values
Find the range of each data set.
8. {15,7,24,13, 21} 9. {5. 7,_2, 5,12, 3,8, ]_4}
24-1 <)1) 14-2 =[i2]
Find the mean, median, mode(s), and range of each data set.
, 10. The length, in minutes, of 7 movies: {95, 108, 135, 124, 115, 102, 98}
MORE , 45,93, 102,108 , |IS, ) 24,13
PRACTICE Marn: 454984102+ 1084 1IS+1 24 + 135 1
S mean: LI
= H Median; __1 0§
Ronge: 135-9s =40 vodes: MULE
Y Range: H D_
11. The scores of 9 golfers in a tournament:
(72.77,79,70,73,77,80,75,72}
10|1z[12|13\1¢§l1—';—‘74 1‘1.8’0 Mean 7S-
NZan- 104124 12412+ IS ¥+ T1+19 420 Median: __ 1S
s Q Mode(s): 72-17—]
= -'q—"' =75 Range: 10
12. The grades of 10 students on a math quiz:
{86. 90, 90, 92, 81, 76, 92, 90, 98, 95}
10,%1,806, 20,90 ,40,929%,95,9¢
£9
Mean: 10+20 580+ A0+404+90492142 495498 oo ——r
s Median: __ 90
= 290 _ gq Mode(s):L
10 . 22
Range: ag-, =22 Range: ———
13. The cost per gallon of regular gas at 6 gas stations:
{$2.40, $2.44, $2.36, $2.48, $2.44, $2.34}
2.3%,2.36, 2-40,244, 2.44, 2.ug 5,
. $2.41
Mean:
Mean: 2.34+2.36+ 2.40+ 244 +2.44+ 2.48 Ty
—_ o Median: :
$
= MHY |y Mode(s): £
b . Range: $o,|4
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Name:

Date: Per:

Unit 8: Data & Statistics

Homework 1: Measures of Center & Range

Directions: Find the mean, median, mode(s), and range of each data set.

1. Points scored by the winning teams in
8 Super Bowils: {32, 13, 41, 34, 24, 27, 43, 34}

2. The number of sit-ups completed in one
minute by a group of friends:

13,24,27,32,34,349,41,43
AN Name |StUps| ;3 25,29, 30,33
Ashley 23 2
Mean: 12+ 24 + 271432434+ 34+ 41+ 3 Jordan 30
Q Devon 25
Lora 33 | Man: 23+25+ 24130133
= 243 Rylie 29 5
_— = 3]
'S = iHo =28
S
Mean Median Mode(s) Range Mean Median Mode(s) Range
3| 33 34 36 28 29 None 1D
3. Amount of rainfall, in inches, last month 4. The height, in feet, of a group of trees:
recorded by several counties: {25. 29, 23, 27, 27, 30, 29, 25, 27, 21}
1.4,1.2,23,2.1,2.4,1.6,23
{ ) 21,23,25,25,21, 27,217,249, 29,30
|‘Z' |-"‘,|.[p,2_."2.3’2‘3) 2.4 N’
1\
Mtan: 2142342625+ 21+ 201+27+29 +29+3o

Mean: 1.2+ )44 ).03 2.1 +2-312.3+2.4 o
1
=23 _
= 13.3 = — T 2L3
a5 - .9
Mean Median Mode(s) Range Mean Median Mode(s) Range
[.9 2.1 2.3 .2 2L.3 21 27 9

5. Highest temperature recorded each month,
from January to December, by a city:
{57. 60, 65, 76, 83, 86, 90, 87, 83, 72, 55, 50}

Sol 55, 5—' .(pO) w§|12:7 (f 183'83,8blg7aq
S

Mean: 5D+ SS+ SH LD+ LS +72+7v 23183 +

D

é. The ages of the starting offensive players on a
football team: {23, 28, 26, 30, 29, 23, 26, 28, 22,
28, 23}

22,23.23,23,20L. 20, 28%,2%,28,29, 3
¢

Meéan: 22% 23423423 204 2L+ 28+ 2%

A%

8k + 81490 +28+29 430
1z i
- 8
= ‘E"_béi =12 = 2'_19 = 2b
Mean Median Mode(s) Range Mean Median Mode(s) Range
72 4 83 4o 20 20 23,28 g

® Gina Wilson (All Things Algebra®, LLC), 2020




Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

OUTLIER

A dofa value that is mudh \Wvder ov much

Smaller than dne pther values

1. Find the mean, median, and mode of the data set below with and
without the outlier.

{14,17,16,11,15,50,17, 12, 10} With Outlier Without Outlier
o,\, IZH"‘, 15,111 ‘@ Mean: Mean:
|8 |4
Median: Median:
(w’ ) 9 (wlo) & Mode(s): Mode(s):
=14 11 11

a) Which measure of center is most affected? an

b) How is the range affected? \gpt {om 40 1.

Cheostng The
BEST CENTER

Circumstances within the data set determine which
measure of central tendency would be the most appropriate.

Center Most Useful When...

Mean |« Theve ave no owtlers.

*Theve axe owruers
*The widdle of the datn has o bia gaes-

Median

Mode |-Thw data has Wany yepeaded values.

EXAMPLES

Determine which measure of center best reprﬁsenfs the data. Justify your
selection, then find the measure of center.

2. The typing speeds, in words per minute, of 8 students in a computer
class: {48, 42, 45, 54, %2 56, 60, 44}

am outuer
& Median 22-,‘-‘2.144,%|42| 5"! 5@1 (pQ
Q Mode e MI‘ = Y.<

3. Fuel efficiency, in miles per gallon, of a group of vehicles:
{19.7,18.9, 21.3, 25.6, 23.5, 24.8}

= |33.3
& Mean - nD Dutlicvs Mean T

O Median
O Mode ‘-‘-’ 22.3 |

® Gina Wilson (All Things Algebra®, LLC), 2020




4. The number of hours Soroh has worked each week for the past 7 weeks:
{36, 36, 27, 36, 36, 38, 36}

Q Mean LT/\Odc“-' 30

O Median
Mode - Y¢peattd

HOW CHANGES
TO THE DATA

Ukkech the: Cemlier

An online shop sells seven different wreaths. The cost of each wreath is
given in the table below. Answer the questions below using this data.

Wreath A B C D E F G
Cost $35 $18 $39 $48 $60 $55 $39

5. Find the mean, median, and mode of the cost per wreath.
Mean = 294 :E 2 5
A , Mode=|"39

Mtdian = 18,35,39,39, 48,85, 0
T

=%39
é. If there is an outlier, how does removing it affect the mean, median,
and mode cost per wreath?
s Modfrﬂ’sﬂ
Méan = 214 ._,K 4
b -

Median = 35,309,349, 48,55, L0 l=‘43.§o

7. If the two most expensive wreaths are out of stock, how will this affect
mean, median, and mode cost per wreath?

Mtan = ‘—?5—1 =|*3s.~zo Mode = 1¥39

Median= m&;rq,sm 48 =[534]

8. If this shop charges $8 to ship each wreath, how does this affect the
mean, median, and mode cost per wreath?

Mean = Q =E§__-o: Mode =

Mtdian= 25,43, 41,41,50, U3, b =[sy7| { Eveytning
1 m(xca;scs by $g’

9. If the shop is offering $5 off each wreath with free shipping, how does
this affect the mean, median, and mode cost per wreath?

= Z-S_j_ =3 ' =%
Mtan= == 3 N\odev

Median= 13,30,34,34, 43,50, S5
=$3L‘ T

by $%.

Evonything  decrdasy

&

~
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

DOT PLOTS

¢ A dot plot uses a number line to show the number of times each value in
a data set occurs. Therefore, dot plots are especially useful when there
are many repeated values within a set.

o Example: The weights of 20 puppies are given in the table below.
Organize the data on the dot plot to the right.

.
.
.
L]
.
. ] .
. . ) .
i

3

Puppy Weights (pounds)

12 9 9 12 | 12

11 i2 (15 ] 10| 13 .
9 12 1131151 1 < .l
10| 12 (10] 16| 12 a

b 11 12 13 1 IS Ib
Puppy Weights (pounds)

SHAPE &
DISTRIBUTION
of Ualia

Dot plots are also useful in showing the clusters, peaks, and gaps in a
data set. We can use them to classify different shapes of a distribution:

SKEWED
LEFT

A

1+ 0

1+ ®

+ o0

T oo

+ o00

+ o000
+ o000
v

A distribution is skewed left
when most of the data
values are on the right.

The left side of the plot
is called the tail.

SKEWED
RIGHT

A distribution is skewed right
when most of the data
values are on the left.

The right side of the plot
is called the fail.

SYMMETRIC

A distribution is symmetric
when the data on the left is
approximately a miror image
of the data on the right.

UNIFORM

A distribution is uniform when

there are approximately the

same number of each data

value. A uniform distribution
is also symmetric.

® Gina Wilson (All Things Algebra®, LLC), 2020




EXAMPLES

Draw a dot plot to represent each set of data. Then describe the
distribution of data.

1. Scores on a math quiz:
{65, 95, 60, 90, 85, 65, 100, 70, 90, 60, 55, 95, 90, 65, 100}

@mmcﬁﬂ

[}
L] . .
] 1
¥ 1

4 (1 N 1 >
1) ¢ 1) ) >

-1
55 W W W 1 ¢ 8 9 95 100

2. Number of goals scored by a hockey team in their first 20 games:
{2,4,1,4,3,2,5233,1,523,455,21, 4

e ® ©
- ¢

Uhi fg v i)
: : : ' | SYmmetic
< .I A .l L .l ~
< ¥ I 3 1 T »
1 2 3 Y S
3. High temperatures for the first two weeks of July:

{84,76, 88, 88, 86, 90, 84, 78, 82, 80, 86, 88, 84, 88, 84, 84, 86, 86, 82, 80}

.
.
)
. . .
1 1 i Iy
' 1 T 4 —>»

M 1% 80 82 24 1 {2 88 9

<&
<

4. The dot plot. below gives the pii'ching speeds of a pitcher during his
ME ASURES m: warm-up. Find the mean, median, mode, and range of the data.
Go,91,21,91,92,92,93, 94, 94
CENTER & RANGE S
. e ©® o o o
\AHMD@DW@T& < 9:0 t 9:2 t 9:4 > Mean:L
Pitch Speeds (mph) Median: qz
Mode(s): q'
Range: '

5. Vienna recorded the number of pages she read each night in her
book for the past 10 nights. Find the difference between the mean
and median number of pages she reads each night.

20,22,24124,20,26,30,32,32,3 2

Mean= 27
' Mcdian= 20
20 24 28 32

Number of Pages

27-26 =1 |

© Gina Wilson (All Things Algebra?®, LLC), 2020



Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

STEM-AND-LEAF
PLOTS

A stem-and-leaf plot is a way of
organizing and displaying data using
the digits of the data values and
seeing how the values are distributed.

The last digit of a data value is the leaf.

The remaining digit(s) are the stem.

The key will explain what the stem and
leaves represent.

Call Times
Stem | Leaf
09
110 3 6 6 8
211 4
312
4 |1 7
5|3
[Key: 2|1 =2 minutes]

QUESTIONS

1. The stem-and-leaf plot above shows the length of a set of customer

service calls.

a) What is the mean call time?

F+10+134 lxlb+ 18 +21+24

+32 v 4| 44N +63

b) What is the median call time?

4, 10,13, 10, 1b; )& 21, 24,

32,41, 41,53
12
13+2)
300 . i T2 =3 |1asm
2 25 min 2 > n
¢) How many calls were more than | d) How many calls were at most
10 minutese 30 minutes?
10 Calls 8 calls

Ages of Hockey Players

Stemll.eof
119
211 2 3 3 57
3101 2 4 6
[Key: 3]0 =30yec|rs]

2. The stem-and-leaf plot to the left s
hockey team.

hows the ages of the players on a

a) What is the median age?
19, 21,22.2%, 23, 25,21,

25+27

30,31, 32,34, 3b

= SZ _

b) What is the mode age?

23 yeavs

c) What is the range of ages?

319 =

d) How many players are at least
25 years old?

VW 1fuksl

\'1 elayers

® Gina Wilson (All Things Algebra®, LLC), 2020




House Sale Prices
Stem | Leaf

18] 2
1910 3
2010 5§ 5 7 8
21 9

| Key: 18] 2 = $182.000

3. The stem-and-leaf plot to the left shows the prices of homes that
recently sold in a neighborhood.

a) Find the mean sale price. b) If Alexa lists her house for $203,000,

how does this compare to the
132+ 1904 193+ 200 + 205 + 25 median sale price?

+ 207+ 208 +219 .
3 Median = 205,600

= 1309 . 9 Alexa's howse wowld

9 O -
S be \ess Yhan +he wedian,

¢) What is the range of sale prices? d) How many homes sold for no
219 -182 =27 more than $205,000¢

$27,000 E homes

Drawing
STEM-AND-LEAF

PLOTS

Helpful Hint:
Order the data values
before making the
stem-and-leaf plot!

Breft's Runs
5.2 4.0
3.6 4.7
7.5 2.8
4.2 5.6
3.5 3.8
6.4 4.3

Make a stem-and-leaf plot of the data.

4. The number of confirmed cases of a
virus in 15 counties: {20, 28, 34, 53, 26, Stemn ‘ Lea §

31, 35, 47, 42, 51, 59, 30, 65, 47, 22}
2 |02L8
20,22,20,128,30,31, 34, 35, 3 |o l':l\S
2.1
42,4147, 5153,59, bS ‘5\ 4
b |5

Key: 2|0 =20 cases

5. The weights of a group of large breed dogs:
{138, 152, 133, 140, 172, 152, 131, 165, ‘
149,156, 151, 136, 162, 140, 159, 167} S+cvn L'Ca%

131, 133,130, 12¢, 140, 140) 13 J13b8
4 (0019

Mq| |5|\ 157-' ISZ] \Sbl ‘SQ; 15 \22(0"]

b2, 165, 11, 12 v |287
17 |2

Key: B]l = Bl pownds

® Ine distance. The table 1o e lert gves . Stem | Leaf
the distance, in miles, of his last 12 runs. 2 <
28,35,32.0,3.3, 4.0, 2 |5 68
4.2,4.%,4.1,5.2,5., 4 0237
L-4)1 .S 5 |20
b 14
115

Key: 2|2 = 2.8 miles

® Gina Wilson (All Things Algebra®, LLC), 2020



Name:

Date: Per:

Unit 8: Data & Statistics

Homework 3: Dot Plots; Stem-and-Leaf Plots

** This is a 2-page documentt **

Draw a dot plot to represent each set of data

. Then describe the distribution of data.

1. {100, 85, 95, 75, 100, 95, 90, 80, 75, 90, 95, 100, | 2. {18,16,17,15,18,18,16,17,17,18, 14,18, 13,
75, 85, 90, 80, 75, 90, 75, 95, 80, 85, 100, 95} 16,17, 14,16, 18,15, 16, 18,16, 17}
. . v . . .
«—t : : : — | Attt
15 % 85 T as o 13 14 s 1" 1 18
Distribution: A |\ ) ﬁ) SYMMERNAC| Distibution: — Shoygpd et +
3.{6,.4,3,2,5.2,3.3.2,. 4,2, 5. 6, 2, .2,2,3.2, 4. {37, 34, 39, 38, 33, 35, 40, 32, 38, 38, 32, 39, 33,
4,3,4,7. 4,5} 31, 31, 38, 33, 36, 32, 33, 39, 40, 33, 34, 37, 38}
-~ | 1 T 1) ¥ [ 58 -~ \ | Y Y T 1 T Ll
2 3 Y 5 b 7 30 32 3 3 3¢ #0
bistibution: . SYLWed  vighd Distibution:  SY NI\ 1O

5. The dot plot below gives the number of cars sold by a group of car salesman in one week. Find
the mean, median, and mode number of cars sold.

011,3,23,4,44,4%415,55, &

: , L. 8
e ©
: : : Mf ) Mean: L’
o o o o o o ° an: ‘—‘" "‘ Medi
«—At——t—t—t+—t—+—+> edian: ';‘
0
2 4 ¢ 8 Mode(s): 5,5
Car Sales in One Week Qangg; Q-0:=% R g
ange:
é. The dot plot below shows the number | a) What is the mode?
of books a group of students read
over the summer. 5 boo\gg
: ° b) How many students were included in this group?
o O o
e o o o Z
R I N Students
> c) How many students read at least 4 books?
2 4 6 8 10
Books Read Z\ S—’udm/fs

® Gina Wilson {All Things Algebra®, LLC), 2020



Draw a stem-and-leaf plot to represent each set of data.

7. Fat grams in the sandwiches and burgers at
arestaurant: {13, 20, 17, 18, 8, 5, 13, 14, 22,
29, 32, 35, 18, 15, 24, 30, %, 21, 13, 20}

58,9, |3.|3‘|3,)§‘ ey 177, l%, lg,ZO,ZO,
2‘|22l 2"‘ t?-q., 30,52|35—

8. Number of people in the marching bands in
a competition: {98, 115, 127, 92, 87, 132, 121,
118, 105, 138, 95, 107, 129, 121, 125, 101, 98,
115, 135, 120}

27,42,45,98,98, 101,105,107, 112, 1S

N8, 120,121, 12}, 125,127,124 ;132,135,138
Stem | Leaf Stom | Leaf
)] 589 9 |2s58%
| 333507188 10 15 1
2 0012419 . |{25% .
1151
3 3 K ]
vz Key - 3\2?2 12 |25% Key: *\1‘%20(,
9. The ages of a group of a) Findthe mean and median ages of the governors. )

governors is shown in the stem-
and-leaf plot below.

Ages of Governors 12
Stem | Leaf = [,84

4 |3 6 7 12 5—' \I s

S5|12 4 6

. . 8610

6|10 1 2 49 Medion: "zl' = |68 yeals I

710 b) How many governors are at most 60 years old?
[ Key: 4 | 3 = 43 yeors] _\ QOV&YV\OVS

¢) Whatis the range of ages?
0 -43= 21 jeuvs

Mean: 43+406 +H47 + 52+ 54+ 56+ GO
tllt b2+ 41 ba+70

10. Them stem-and-leaf plot below
shows the amount of weight loss
in one month by employees
participating in a challenge.

Monthly Weight Loss

Leaf
5 8

Stem

AoAWN
0N 0 N
~
~N
0

O 00 N O 0N
- N =N -
wn
[0 0]

o
N

[Key: 4|1 =41 poundsJ

a) Find the median and mode weight loss.

Mediaw: LA POuMS
Modt: U1 pounds

b) How many employees participated in the challenge?

2\ employees

¢) How many employees lost at least 7 pounds?

10 emplo yees

© Gina Wilson (All Things Algebra®, LLC), 2020



Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

MEAN ABSOLUTE | A weasure that gives The average.
o V J
Dowalion distance of eady dada value o the Mean.
Directions: Use the steps below to find the mean absolute deviation
(MAD) of the data set {2, 4, 6,7, 8, 15).
STEPSTU FIND 24+ ¥ ¥ +1S _ 42
the, “MAD” Step 1: Find the mean. © T o ﬁ]
Step 2: Find the distancesofeach | ©, 3, 110, 1,8
data value to the mean.
Step 3: Find the mean of these St3+1+o+1+8 > 1_8_.. :E]
distances. (2 10
What does this mean? T}, o VOALES G.Vl,mef o diS‘fﬂh'
of 3 uwits o the mran.
irections: Fd the mean absolute deviation of data ets A, B, nd C.
COMPARING [ZF - Bdlaseia S Diasere
the “MAD” {2.4,6,15,18) {w.1.9,10, 13] (9.9.9.9.9}
Mta.vt,'.%s,,q Mean: 45 _ g Mew: 45 _q
s 5
MAD - ,
14543+ b9 MAD: 34240144 | MAD: D10T0+0YD
s s 5
> [0 =0 .
> 30 - — = — -—D
5 “ U S S
Mean = q Mean = q Mean = q
MAD = ( MAD= 7 MAD= ()
the “MAD” Vavipdivn theve is in the data-

How do outliers affect mean absolute deviation? ‘n\a‘ \rai SE | +

© Gina Wilson (All Things Algebra®, LLC), 2020



EXAMPLES

Directions: Find the mean absolute deviation of each data set.

1. The high temperature for the past five days: {90, 81, 85, 92, 82}

Mean - H30 MAD: H+ 5+ ) + b+Y
5 s
= Qv = 20 _
5 =
MAD= L

2. The years of experience of six employees at a company:
{1.5.9,12,16, 29}

Mean: 12 MAD: Il +1+3+0+ 4+ 11
b b
=12 = 'iz'— =1
L
MAD = 7]
3. The heights, in feet, of five rollercoasters: {174, 180, 160, 121, 150}
Mcan: 15§£ MAD ! N3423+3+ 3L+
=157 ce o
5 =11.2
MAD= 17.2

4. The number of wins a football team has had in the past six seasons:
{8.10,9,14,4,12)
MAD: 1.5+06.5+ 6.5+ 4.5+

MGWW‘EEL 55+ 2.5
©
=q.5 =15
L -5
MAD= 2 &

5. The prices of the trees sold by a farm during the holiday season:
{525, $32, $34, $45, $48, $55, 564, $75)

Mean: 380 MAD: 225+ 165+ 11.S+ 2.5+ 054+1.8
< * LS+ 27.8
-f1.< €
e M = |3
2 MAD= |3

é. Weights, in pounds, of five babies born on a single day at a hospital:
{5.7,65,7.2,7.5, 9.1}

Man: 20 MAD: 15+ 0.1+D+0.3+ 19
5 s
= 1.2 =
! isi =088 MAD =
- O-R8

® Gina Wilson (All Things Algebra®, LLC), 2020



020z ‘(O™ ‘@0igeblv sBuyl |iv) UosIM DUID @

{£91 ‘102 'SL] '¥0T
‘651 ‘84T 'STT}

Ue|pall 8u4 pul4

14114

{0z '5s 'zl 'S1 8T}
Uoeina( ajnjosqy
uesl| ey} puy

V9

@

{r'81 'S"1C '€'5C
‘60T ‘L'€T T}
abued sy} puy

{Le ‘0z ‘se 8¢ {z'g'cl v ol {6€ €S 19 ‘1Y 'SS 1o 1
't ‘81 ‘¥T LT} Q ‘8°S'S 'L 'T'8c} @ ‘SS 05 ‘85 ‘zE} @ ANMM& w e LL)
: Ui pPuy
Aepall 8yl pud :9poW 8y puld Uepawl 9y puy
{ec ‘ov 'Le 's€E {ce 's1 sy ez e sesTl erseil vyl g9
‘TE '¥T ‘08 ‘LT} [A ‘8 ‘T ‘0T '9€ L1} 8¢ ‘6L VL L6 'SS) v'e | uolyeineqanosay
SPOW a4y puy afueJ sy} puy :aBued ay| puy ues) 8y} puy
auou Q " 7 68 @ ‘ @
@ o {9'szeL8’1e
{961 ‘82z 'L0T {6z 1€ '8€ 'vE '61°ZL "LL ‘€L ‘02)
‘vl ‘192 ‘28l | soT . G Q ST 1T LT 61} ¢ BPOW 8L} pue
Uesll 9 Ues sy} puy uepaw 8y} Uusamjasq
P __mu mmﬁ eoueBgdIP SUH PUlY
102 (e0d) 9L z9 56 ze G2

@9

{02 °S2°1£89 'TL 'S9}
UOHRIAS( 8}njosdy
ues|\ ey} pu4

i1adod sjy} o jioM ||p 3jdpys "azDW By} YBNOoIY} 91DBIADU O} SUOKNIOS INOA 8SN “PIDP 8y} Buisn 8INSDBW PB}JDIIPUI Y} PuUld SUoldaNQ

[9ZRH S9INSBON |BOLLSIIRLC




Name:

Date: Per:

Unit 8: Data & Statistics

Homework 4: Mean Absolute Deviation

Directions: Find the mean absolute deviation of each data set.

1. The weights, in ounces, of five bottles of
ketchup: {14, 20, 34, 30, 25}

mean= 125 _
= =25

MAD= 11+5 +1145 4o
5

2. The weights of the starting five offensive lineman
on a football team: {320, 330, 311, 325, 329}

Wean = l;lg_ = 323

MAD= 34 T4 124 240 -
5

U\]%"

<[]

3. Alyssa’s grades on six math quizes:
{58,100, 85, 98, 71, 92}

Mepns B g

MAD= 2 +16+1 +IHTI3+ B
L

::L_g :E@'

4. The number of push-ups completed in one
minute by six people: {37, 35, 26, 42, 30, 58}

mean= 228 _ 3¢
("]
MAD = | + 3+ 124+ 4+ 8+20

b
- ug

-

5. The price, per square foot, of five recently
sold homes: {$98, $120, $156, $90, $136}

Mean= (400

120
5

MAD = 22+ 0+ 3L+ 30+ 1L

)
’—'? 20.%

-
-

6. The speeds picked up by radar by five cards on
the highway: {76, 82, 65, 68, 73, 71}

mean= 135 - 45 g
(&3
MAD = 354+9.5+1.5+49.5640.541.5

G
=21

= 45

7. The times of five runners, in seconds, in the
100-meter dash at a track meet:
{11.3,12.1,10.8,11.5, 11.8}

mean= 51.s

= =).<

MAD= 6.2+ 0.b + D1+D +0.3
s
0.36

=18
S

-
-

8. The amount of snowfall, inches reported by five
towns after a storm: {8.2, 12.2, 9.8, 7.4, 10.4}

= 48 _
Mdan = Ta.

MAD = 1-4+2.b30.2% 2.2+ K
s

[

1.2
S5

-
- —-—
-

® Gina Wilson (All Things Algebra®, LLC), 2020




Name:

Math b

Date:

Per: Unit 8: Probability & Statistics

Quiz 8-1: Measures of Center; Mean Absolute Deviation

Use the following data for questions 1-4: {15, 28, 11, 23, 15, 29, 20, 26, 13}

1. Find the mean.

120
q ° 20

3. Find the mode(s).

5. The points scored by a football team in their first 8 games of the season were
{7,20. 13, 26, 16, 39, 18, 13}. What is the difference between the mean and

median number of points scored?

Mean : 152

<

Median: 1, 13,13,1b,18 ,20, 2L, 39 =17

The dot plot to the right gives the golf scores for a group of
golfers in a tournament. Use the data for questions 6-9.

6. Find the mean.

708

—17)— T 770.S

8. Find the mode(s).

—~—~

2. Find the median. 1 20
113, 15,15,20,23,20,28,29
T 2. 20
3.__\5
4. Find the range. .13
29-\| =18 5 Z
®
[ J [ ] [ ]
G o e
e 0 72 74
Golf Scores
7. Find the median.
bglUQ;lﬁQ,-lOn-]Ol-lO,'”,
—— 6._10.8"
12,712,714
7. 1D
g._ 10
9. Find the range.
9. b
I4-Lg = b

® Gina Wilson {All Things Algebra®, LLC), 2020



The stem-and-leaf plot below shows running time, in minutes, of the movies currently showing

at atheater.
85,92,45) Ioz, Io4, N0y (12,112, 112 120, 127,13 |
A\ VO M
stem | Leaf ‘ 10. _l_Oﬂ_WUV\

815 . 10. Find the mean. )

o5 s 1. o_movies
1208 _

10| 2 4 —— = 109

nloz22s 12

12|07

131

11. How many movies have a running
time less than the median time?

[Key: 8|5=85minutes] L W wun

12. The number of students in sixteen classes is given below. Determine whether the mean,
median, or mode would be the best measure of center. Explain your reasoning.

{28, 25, 28, 27, 28, 28, 24, 32, 30, 28, 28, 24, 28, 29, 28, 28}

Mode- The number 28 veprads ifself A Himes i
e Sed of b elemends.

Find the mean absolute deviation of each data set.

13. Finn's math test scores: {81, 100, 90, 83, 86} 1. 5. b
Wean= H40 _ oo MAD: T+124 245+ 2 5. 152
5
Y
-28 oo, 15128
_é_' .

14. Sixth grade enrollment in the years given in the table below.

Year 2015 | 2016 | 2017 | 2018 | 2019 wmean = '150—5 = 34|
Students | 332 | 314 | 368 | 352 | 339

MAD = A+ 2714 2T+11+2

Y
T lEssa
15. The weights, in pounds, of five cats: {14.4, 11.9, 12.4, 16.2, 13.4}
Wamn = l':g.s = 13.9 MAD= 0.7+ 1.8+ 1.3+ 2.5 +0.|
S
= Y
= ° |.28

© Gina Wilson {All Things Algebra®, LLC). 2020




Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

BOX-AND-WHISKER
Kolr

e A box-and-whisker plot (or box plot)
is a way to display data on a number
line by organizing it into four sections
using a five-number summary.

78 79

Box-and-whisker plots help visualize the

distribution of data.

—+ 1

80 81 B2 B3 84 85 85 87 88 89 90

High Temperatures

The values used to create the box-and-whisker plot:

FIVE'NUMBER | « Minimum vaive: ¢ Simallest Value
S&WWW e Lower Quartile: lhf‘ wiedian of 'H/lé lower half
o Median: € |- 0 CV’)
« Upper Quartile: Tt wmedidn D‘F 'H’\ﬁ l/qucr half
« Maximum Valve: _TNE lamts+ volue
QUARTILES The Powr seetions thad  make Lo the bex
ploJr-Each quartile veprssends 25% ot the dade
. ‘/"l /4 '/'—l '/q
C lete the d
DISTRIBUTION | toterightbygmingthe | —————" 1
approximate fraction of — o
@% qu data values in each part of
a box-and-whisker plot. ﬁ—'
Y2
INTERQUARTILE | The vy nge beteen the wpoer and
RANGE (IQR) |}, 0 aumhlfs. or gt ot -l'h(; box .
Draw a box-and-whlsker plof and identify each value.
DT/Q/\UW 1. Years of experience of 9 teachers: N s
{18, 27, 5, 14, 10, 21, 12, 8, 30} Minimum: _ >
BOX-AND-WHISKER 5,%,10, ‘2® '8, 21,27, 30 Lower Quariile: __
PLOTS T veion: _14
Upper Quartile: ZLI
r . . Maximum: 3 O
<|,|,,,,ll||,l,>(30'5)chge:iS’__
4 b 3 1oz b 1820 32 2 2 283D | (5 o\ aR: __ 15

® Gina Wilson (All Things Algebra®, LLC), 2020




2. Speeds, in miles per hour, of eleven cars:
{67, 73, 64, 70, 75, 68, 45, 71, 78, 44, 70} Minimum: U’_‘[
4, LS l#la b, b8 ,@'1 0, 7{7:»75'; 8 Lower Quartile: __lslp
Median: _10
Upper Quartile: 13
Maximum: "]‘Z
—— o
Range: ‘4
+————— > T
Fe) Y 10 s g0 IoR:
3. Points scored by eight basketball teams:
{82, 75, 63, 68, 66, 71, 59, 45} Minimum: 5 |
501'(’. 3,(05'-, L, LgT1,15,82 Lower Quartile: (04’
bt 13 Median: (07
Upper Quartile: j__z_
Maximum: 2 2
<l 1 I ] ] [l [ ] 1 1 | 1 i [ Range:—z‘i
I 1 T L} ¥ ) I 1 I ! I i I LI
58 LD b2ed bo LB 1274 W 1Y 2 82 84 IQR:j_
4. The length, in inches, of fish caught on a fishing
trip: {6, 20, 15, 12, 17, 8, 15, 10, 18, 13, 22, 18} Minimum: _(p_
(013,10.!2-, '3,15, lg |—I|IY;|8, 20‘2.2 LOW@TQUQrﬂle: ‘l
N ——
n 1e Median: £
Upper Quartile: 18
Maximum: 22
L Range: }7)
<l i [ [ [ [ | (| [ (] 1 [ | [ R
~ 1 1 ) 1 ) 1 1 1 ] i I ! | | e |QR' -]
4 b 3101214 v Iz 202224 2 23 30 r
5. The running time, in minutes, of movies showing 99
at the theater: {95, 102, 127, 110, 108, 134, 89, Minimum:
113, 121, 100} . |
Lower Quartile: _{ 00
89,99, 150, 102,108,110, 113121 121,13},
71 1 Median: _[09
Upper Quartile: ! 21
Maximum: 1326
¢— i I L‘,-)
<l 1 i 1 i [ 1 1 1 1 ] 1 1 [ Range:
D | ] 1 1 L) 1 1 1 1 1 ] 1 ) LI
@ 9 o o 120 13 Mo Iqr: _2 |

@© Gina Wilson (All Things Algebra®, LLC), 2020



SHAPES
ok Ualla

Skewed Left Symmetvic

SKewed Right

4 @ PO *—s L [ oo ]

P @ [

The left whisker is longer The whiskers are about the

than the right whisker, . than the left whisker.
same length. The median
Most data vglues cre is in the middle of the box. Most data values are
on the right. on the left.

The right whisker is longer

Leading
BOX-AND-WHISKER
PLOTS

Identify the shape of the distribution and each value to the right.

6. shape: S¥KLwed Rjg ht

>——

PPN N NN NN NN SN W N N R S N N B
~c rr -r -r-1rr rr vV v r &7

78 79 80 81 82 8 84 85 85 87 88 89 90

Minimum: 78
Lower Quartile:; _19
Median: _3 |
Upper Quartile: 8’_‘!
Maximum: C}Q

. Range: L

High T
igh Temperatures IR:_S
Minimum: _2(_

7. Shape: _S um metvic

Lower Quartile: 25

Median: _28

' ‘ I Upper Quartile: 30
-+ttt . . 32
21 22 23 24 25 26 27 28 29 30 31 32 33 Maximum: _33

. Range: 12'

Class Sizes

IQR:_ S

8. shape:_Skewed Left Minimum: _[ 22

Lower Quariile: _15

Median: 5.5

Long Jump Distance (Feet)

Upper Quartile: i1
Maximum: __1§
Range: (ﬂ
IGR: _Z

9. The double box-and-whisker plot
below shows the test scores in two
classes. Which statement could
be true?

Class A

—ti

40 45 S0 55 60 65 70 75 80 85 90 95 100

Class B

A. The range of test scores in both
classes is the same.

B. Both classes have the same median
test score.

C. Exactly half of the students in Class A
scored less than the median test
score in Class B.

Half of the students in Class B scored
higher than three-fourths of the
students in Class A.

® Gina Wilson {All Things Algebra®, LLC), 2020



Name:

Date: ' Per:

** This is a 2-page document! **

Unit 8: Data & Statistics

Homework 5: Box-and-Whisker Plots

Directions: Draw the box-and-whisker pot, then give the five-number summary, range, and IQR.

1. Number of overtime hours that employees at a company worked |
last month: {1,12,8,10,5, 5,4, 7, 9, 14, 6} Minimum:
‘:qlsn's)‘o)@%lqllfr)olz—t 14 Lower Quartile: _S
T Median: __1
Upper Quartile: 1D
— % - Maximum: _ 4
-+ttt Range: 13
2. Ages of people in a yoga class: {57, 34, 45, 21, 28, 37, 32, 40, 54, 25,
38, 40, 48, 24, 31) Minimum: _Z2]
21,24,25,28,31, 32, 34},@ 38, 40,4548 54, 57,0 LowerQucrﬁle:ZL
T T Median: 37
Upper Quartile: 4
.—.F ¢ — - Maximum: __ O
Gttt Range: 37 _
20 25 30 35 4o HS 50 55 bo ar:_20
3. Heights of roller coasters at an amusement park:
{168, 250, 184, 135, 200, 115, 143, 208} Minimum: _HS__
1S, 135, 143, 1L, Ixd, 200, 208 ,2SD Lower Quartile: _1 3]
139 204 Median: 110
Upper Quartile: 204
. l ;{ } - Maximum: 250
Attt —————————+—— Range: | 35
160 D 120 13D 0 1 lL0 Mo 180 1% 200 210 220 230 240 25° 24,0 1ar:_1,S
4, Weight, in pounds, of the first 12 suitcases loaded on an airplane: l
{34, 50, 47, 42, 28, 40, 16, 25, 38, 55, 26, 32} Minimum: _t¥
v, 25, 2,28, 32, 34,38,40,42, 41,50 ,55 Lower Quariile: 2
N N
27 yyg Median: 30
Upper Quartile: "M S
Attt Ronge:_ 21 _
0 5 1D 15 20 25 30 36 H0 45 50 65 (O &5 70 75 80 ar: 11-S

® Gino Wilson (All Things Algebra®, LLC}, 2020




Directions: Give the five-number summary, range, and interquartile (IQR) for each box-and-whisker plot.

5. The body mass index of a group of gym members: Five-Number Summary: Range:
Minimum:; | 8
L e — ) b q
Lower Quartile: 20
At 22
17 18 19 20 21 22 23 24 25 26 27 28 29 Median: 23 IQR:
Upper Quartile:
Body Mass Index , 24 3
Maximum:
é. The prices of bicycles at a shop: Five-Number Summary: | Range:
Minimum: 225 Z'I§
[ 1 ] Lower Quartile: 2778
4+ttt Median: _100_ ™ iakr:
200 250 300 350 400 450 500 i Y4 S0
Upper Quartile: l'? <
_Prices of Bicycles Maximum: 500
Directions: Identify the shape of distribution in each box-and-whisker plot below.
7. ' 8. 9.
DA A A A S [ A SR A A R . S DI P S A A S g
Fat Grams Speed (mph) - Test Scores
Skewed vight symmehic Skewed |eft

Use for questions 10-14: Two running back$’recorded their rushing yards per game in a season. Each
running back played the same number of games in the season. The box-and-whisker plot below shows
this data. :

10. Which running back had the greater range of yards
per game? A

Running Back A

11. What is the interquartile range of yards per game for
¢ | each running back?

l A K [p B‘- 12-
7'(, 80 84 a8 92 96 wo | 12. What is the difference between median yards per
game between the two running backs?

A2-g6 = b
Running Back B 13. What fraction of the games did Running Back A rush
for at least 88 yards? 3

- g

q

14. If a coach had to choose one of these running backs for a game, which would you recommend?
Explain your choice. I WO\L\A choose A ) beccause 3/1-{
¥ AnSwers ay £ i
y M ot NS qames have vrushes move
oW than g¢vd. B only has Y2 of
his games wiore than €uyd-

® Gina Wilson (All Things Algebra®, LLC), 2020




Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

FREQUENCY

o A frequency table groups data values into intervals.
¢ The frequency is the number of values in each interval.

Example 1: The data below represents scores on a math test.

m {81, 55, 100, 94, 61, 80, 77, 74, 92, 95, Scores Frequency
52, 86, 90, 78, 81, 100, 5, 81, 70, 94} || 51-60 7
1l 61-70 4
i 71-80 Y
AT 81-90 5
I 91-100 b

Example 2: The data below represents the number of laps around a
track completed by a group of runners. Organize the data into the

frequency table.

Laps Frequency
{7.10,1,3,8,17,12,2,10,9, 15,13, 9, ,
12.8,4,20,7,14,2,10,3, 17, 6,2, 15) 111 -5 ]
+HITHHT| 610 1D
4t 11-15 V)
" 16-20 3

A histogram is a bar graph that shows the frequency of data values.
Complete the histogram using your frequency table #2 from above.

HISTOGRAMS o Somted o
¢ The height of the bar represents
the frequency of the data. > 8
g ¢
T
¢ A histogram shows grouping of 2 4
data, not individual data values. 2
Therefore, it is not possible to find
measures of center or range. 15 610 11-15 14620
Number of Laps

3. Use the histogram above to answer the questions below.

a) How many runners are there? 20
b) How many runners ran a maximum of 15 laps¢ 3

Leading
HISTOGRAMS

¢) How many runners ran at least 6 laps 2 ‘ q
d) Which interval contains the least runners? Hﬁ‘ZQ |a\o$

® Gina Wilson (All Things Algebra®, LLC), 2020




4. The histogram below gives the birth weights of students in a class.

a) How many students weighed
Birth Weights between 7 and 7.9 pounds?

A shdents

b) How many students weigh less
than 8 pounds?

13 Students

c) Which interval contained the
most students?

Frequency

50-59 6069 7.0-79 8089 9.099

Pounds 1 - _[ 0' lb

5. The typing speeds of students in a keyboarding class is given below. What
percent of the students type between 41 and 45 words per minute?

Typing Speeds

10 . : Ol £

-
— -

20 \00

45%

[

'S

frequency

~N

i 5 1 3 PR R

3640 41-45 46-50 51-55 56-60
Words Per Minute

é. The histogram below shows the test scores on a science test by a group
of students. What percent of the students scored between 91 and 1002

Science Test Scores

24 - L

em——

Qv 4

Frequency

25%

0 71-80 81-90 91-100

-50 51-60 61-

Scores

7. The histogram below shows the number of raffle tickets sold by a group of
students. What percent of the students sold at most 15 tickets?

Ratfle Ticket Sales

Frequency

1-5 610 11-15 1620 21-2§

Number of Tickets

© Gina Wilson (All Things Algebra®, LLC), 2020



Crealiing
HISTOGRAMS

SOME IMPORTANT RULES:

¢ Intervals must be the
same size and not
overlap.

e There should be no

space between the
bars.

Dog Weights (lbs)

Stem | Leaf

8. The data below represents the length of time, in minutes, for 30 random
calls to a customer service center.

{24, 7,16, 5, 20, 18, 24, 32, 48, 35, 12, 17, 8, 24, 20,
34, 27, 40, 12, 23, 5, 36, 42, 14, 10, 21, 28, 4, 41, 23)
Iinterval | Frequency 0
0-9 s Mt s
10-19 N Wi
20-29 0 e Hit 4
30-319 4 me
4o -H9 Y thl
©-9  10-d  20-24 30-39 “o-49

Minutes

9. The data below gives the hours worked in a single week by each
employee at a company.

{39, 42, 20, 16, 32, 35, 30, 28, 40, 36, 32, 45, 12, 25, 18, 32, 10, 40, 32, 38}

Interval Frequency 0
1019 4 ¢
20-29 2w
30-38 | Q@ |wran M
Mo-44 | o iy 2

- 2-219  30-39  Ho-H4
Houwrs Worked

17
01357
1245589
359

238

o 0 AW N

| Key: 2| 1=211bs |

10. The stem-and-leaf plot to the left gives the weights, in pounds, of dogs in
the medium-sized category of a competition.

Interval Frequency ©
20-2A z 3
30-39 Y v
Ho-49 1
50-59 3 4
Lo -LA 3 z

29 N Ho4r ST Lo-b9

Weight

® Gina Wilson {All Things Algebra®, LLC), 2020




Name: Unit 8: Data & Statistics

Date: Per: Homework 6: Histograms

**This is a 2-page document! **

1. The histogram below shows the scores of golfers in a tournament.

Golf Tournament Scores a) How many golfers scored between 77 and 782 ] L{

b) How many golfers scored less than 742 I 7

c) Which interval contained the most scores? “] n.| -7 (o

Frequency

d) What percent of the golfers scored at least 742

B .16
50 10D

1%

68-70 71-73 74-76 77-78 80-82
Scores

2. The below histogram shows the ages of teachers at a school.

a) How many teachers work at the school? l ZO

Ages of Teachers

40 7]
Which int .
_ x| b) Which interval contained the fewest teachers? bo ‘LOOI
(%)
g u c) How many teachers are at least 30 years old? \ 0O
2 e d) What percent of the teachers are between 50 and 59¢
8|
2029 3039 4049 50-89 6069 | —— = 'b?’ 20%
Ages \2'0
3. The high temperatures of a town each day in 4, A group of people were asked how many
single month are shown in the histogram below. concerts they had attended in the last year.
What percent of the days was the high The results are shown in the histogram below.
temperature between 76 and 78 degrees? What percent of the people asked attended

fewer than 4 concerts?
Dally High Temperatures

Concerls Attended in One Year

23 _ 13

WO 20

Frequency

70-72 7375 76-78 79-81 8284

Temperature ('F)

Numbaer ot Concarts lﬂ 5 ?"

® Gina Wilson (All Things Algebra®, LLC), 2020



Use the given data to create a frequency table, then use the table to draw a histogram.

5. The ages of players on a football team:

{36, 32, 23, 29, 25, 30, 24, 22, 26, 25, 27, 30, 34, 26, 29, 28, 31, 30, 35, 24, 21, 28, 24, 32}

0
Interval Frequency
g
| | 20-2 b
Ht 1] | 25-29 q v
HH 1| | 3024 7 4
(l 35-39 A z
200t 257 -3 35-39
Aae
é. The beats per minute of the songs on a certain playlist: ¥
{106, 98, 85, 126, 132, 148, 137, 118, 130, 107, 151, 121, 105, 126, 92, 146, 121, 110, 137, 140}
10
interval Frequency
‘ q
Ul " [g0-94 3
+H | 100-19 5 b
S+ | 120139 8 y y
(1 (] 14b-151 "\ 2
0929 po4@  120-1% ' 140159
Beals pev min
7. The number of pages in each book that Beth read last year:
10
Number of Pages
stem | Leaf Interval Frequency g
1713 9 N6 -1194 2
18lo245688 1D - 189 1 b
1912 5 7 lqo.mq 3
211 9 . 2 L}
alo 4 266 - 209
22368 216-219 2 2
&yz 1713 =173 pogesJ 222-229 4

1]
1047 190~
3084 ot

]
200 ' 210~ | 220-

w

Paars
\J

2 22

® Gina Wilson {All Things Algebra®, LLC), 2020



Name: Date:
Topic: Class:
Main Ideas/Questions | Notes/Examples
1. What is 25% of 602 2. Whatis 40% of 952
Lo a5
WARM-UP:  |x0.2s X040
o2 AV
Cencent of o unthey | 399 @ 00o% @
| 2 2g0
—_____——-‘
(S-DD —Z%.0D _
3. Whatis 70% of 1202 4. What is 85% of 402
120 40
X0.10
5835 7 1% 3
2
—Ei———‘ SEE:] 3200
g4.00 ~34.00

CIRCLE
Praphs

» A circle graph (or pie chart) displays data as sections of a circle.
¢ A full circle represents 100% of the data.

» The percentin each section represents a part of the whole data set.

EXAMPLE: The 20 students in Mrs. Adams’ homeroom were asked their
favorite sport. The results are given in the circle graph below. Complete the

table identifying the number of students who reported each type of sport.
Show your work in the spaces below.

Favorite Sports NomD
umber
basketball Favorite Sport [ s o} dents
+ baseball Football ]
Baseball (0
Basketball 5
~ hockey
Hockey |
7
football
Football: Baseball:
20
20 Y0.30
Xxo.40 s 5 b
- O
00 0 °
o0 Ty
__.8--———;-2.’0'6 ‘0 00
Basketball: Hockey
20 Z%
X0.25 X0.0
AV
o0 5 100 ’
4O O
-
s.00
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Text Messages Sent

0-49 messages
50-99 messages
ﬂm 100+ messages

Seventy-five students were surveyed and asked how many text messages
they sent the previous day. The results of the survey are shown in the graph
to the left. Use the circle graph to answer questions 5 and 6.

5. How many students sent more
than 100 text messages?

15
X0.12
|50
150
= =
q.00

9 shud ents |

6. How many students sent between
50 and 99 text messages?

s
X0.852

|50

3175 0
37> 7

39.00

39 Studenss

Favorite Cookies

28%

48%

Oatmeal Raisin
@ Peanut Butter

D Sugar

[ enocolate chip

A bake shop surveyed 150 random customers and asked their favorite type
of cookie. The results of the survey are shown in the graph to the left.
Use the circle graph to answer questions 7 and 8.

7. How many customers said
chocolate chip?

SO

X0 4%
AD%

1200
000

0O
2.0

12 Customers

8. How many customers said oatmeal
raisin or peanut buttere

|50
X 0.24
AV
LOO
3000

——————————

3bk-00

30 Customers

Test Scores

5%

45%

(T #1-100 (a)
[ &1-90 (3
&Y 71-80 (c)
61-70 (D)

Mr. Hayes gave a test to his 120 social studies students and displayed the
grades in the circle graph to the left. Use the circle graph to answer

questions 9 and 10.

9. How many students scored
higher than 70¢

12,0
X0.95

YY)
0§ 0°

e ——

114.00

W Shudendts

10. How many more students
earned an A thana D?

|20 |20

X0.20 X0.05
()]

iggo .00
T -
24.00

24

- b

K3 sﬂda«ﬂ
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Crealisng
CIRCLE GRAPHS

TO CREATE A CIRCLE GRAPH
¢ Find the percent of the whole for each section. (percent = part/whole)
e Approximate the size of the sections (for example, 24% would be

approximately one-fourth of the circle). For the exact angle, multiply
the percent by 360° and use a protractor to draw the angle.

+ Title the graph, label the sections with the percents, and include a key
or label for each section.

11. The table to the left shows the number of points scored by a football
team during each of the four quarters in a single game. Display the

Quarter | Number data as a circle graph. POINTS SCORED
of Points cor\ﬂ‘& ]
First 16 Fivst: b - Z . 407 Se Tké\rd
Second 6 10 5
Third 10 b 3
Second: = = = = |59
Fourth 8 Ho 2v 7
| - -
Thivd: o -—-g,- = 25%
Ho A
3 .1 7 Fousth
Fouvdih: S = 20% First
12. The histogrqm to the left gives the scores on a science quiz. Pisplcy the
Test Scores data as oqclrcle graph. QWIE SCoreS
e A 3 bl-10
> b 35758 = 12 o <
: Ay
E g " 11-8
11-%0: 1% . L = 24 ¢
61-70 71-80 8l~90 921-100 _,5
Scores
$1-40: 21 - . 3%
s 25

»r
21-90
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Name:

Unit 8: Data

Date:

Per:

& Statistics

Homework 7: Circle Graphs

** This Is a 2-page document! **

1. The circle graph shows the results of a survey in which 400 students were asked their favorite ice

cream flavor. Use the graph to answer parts a and b.

Ice Cream Flavors

25%

10%

[ srawbemry

D Vanilla
Chocolate

24090

a) How many students said
chocolate?

HoO
X 0.b5
/—.’
7000

/
2 ,L,0.00

21,0 Stdends

b) How many students chose
strawbernry?

Ho0
X 0.25

2000

Q0 00
v -

100 .00

100 Studendts

2. The circle graph below shows the plan for 3-bedroom, 4-bedroom, and 5-bedroom homes to be
hood with 175 homes. Use the graph to answer parts a and b.

built in a new neighbor

Home Plans bedrooms?
s
52% 1%* [x0. 12
350
< 1715 O
|
3 bedrooms 2 I . O O
[T} 4 bedrooms
DS bedrooms @ hz)me

a) How many homes will have 5

I
1.0 ©

b) How many homes will have 4
bedrooms?

115
X06.52

350
15 O

g
q

la | hom&

3. The circle graph below shows the age distribution of 260 employees at a company. Use the
graph to answer parts a and b.

Employee Ages

5%

a) If all employees that are at least
55 years old retire, how many
employees will be left?

200
X 0.05
] 3.00

20
- 13

b) How many employees are
younger than 452

200
Xp.4O
O ®
loqoo

lo4.00

UOL} Cwlogefﬂ

L4

YZ.?’)L Enployee

@ Gina Wilson (All Things Aigebra?®, LLC), 2020




4. A group of people were surveyed and asked their favorite season. The results are shown in the table

below. Make a circle graph to display the data. FAVD Q\Tﬁ SEASON
Winkv 'g’;) = z"?s; = 29 SpA19
{ M
season | Number w‘.n\" Summﬂ
of People . (W J
Winter 12 S?Vlr}ﬂ" 18 -3 = 127
: 150 25
Spring 18

Summer 78 Summer: 18 _ 13 - 52?
Fall 42 |1SD 25

5. The stem-and-leaf plot below shows the number of points scored by a football team in both their
preseason and regular season games last year. Make a circle graph to display the data.

4.0 POINTS SCORED
lb-lg: 2o 5 =200 T 1049
Points Scored ¢ -3 _ LA
Stem | Leaf 26-29: 5_"6' -IT)- 30%
110367 30-3A S5 =259
2|0224759 .3
3lo133345 W45 =15
41258 30,3\
(S
7},,7,"\

[ Key: 1/0=10 points]

6. A gymrecorded the number of minutes that gym members spent on a treadmill on a certain day.
The results are shown in the histogram below. Make a circle graph to dlsplay the data.

MINUTES oN TREADMIL

- S T,
l - ‘5’ 30 lo - ! ‘,.
Minutes on a Treadmill lo-2: _3'2 29 .

Frequency

1-15  16-30 31-45 46-60

Minutes

© Gina Wilson {All Things Algebra®, LLC), 2020



Name: Math 6
Date: Per: Unit 8: Data & Statistics

Quiz 8-2: Box-and-Whisker Plots, Histograms, Circle Graphs

The box-and-whisker plot below shows heights, in inches, of the players
on a basketball team. Use the plot to answer questions 1-4.

1. What is the median height? 1. 1in

> 2. Whatis the interquartile range? 2. _l_
72 74 76 78 80 82 84 g2~ 15

Heights (in) 3. Whatis the lower quartile? 3._lomn

4. What is the maximum height? 4, ﬁi\_

The histogram shows the distribution of sales of vehicles at a dealership in
a single week based on the fuel efficiency of the vehicle, in miles per
gallon (mpg). Use the histogram to answer questions 5-8.

" 5. How many vehicles did the 5. 50 vehides

dealership sell?
. 28 venides
é. How many vehicles sold had a

fuel efficiency of at least 25 mpg? 7 _Z(_)_Zb__

7. What percent of the vehicles sold 8. L_.l LI 70

were 29-32mpg? 10 . 20
50 (oD

Fuel Efficiency (mpg) 8. What percent of the vehicles sold
had a fuel efficiency of no more
than24mpg? ;2 _ 4

——

50 |00
The circle graph below shows the results of a survey in which 125 people
were asked how many hours they exercise each week. Use the circle
graph to answer questions 9 and 10.

Frequency

E

13-16 17-20 21-24 2528 29-32

9. How many people exercise a \
minimum of 9 hours each week? . —w €fople
04 %5
X0.04 10. Lo
5.00 <= _pLop

10. How many people exercise no
more than 5 hours each week?

i2s
D 0-2 hours m]]] 4-8 hours X 0.8
%% A rerar-are
(4 3-5 hours 9+ hours 1000 © Gina Wilson {All Things Algebra®, LLC), 2020
1500

€5 .00



The stem-and-leaf plot to the right shows the number of minutes Time to Complete a Test

that a group of students took to complete a math test. Use the

stem-and-leaf plot to answer questions 11-15. Stem | Leaf
11. Give the five-number summary, range, 2168
and interquartile range (IQR) of the data. 302 55679
LS )
4 12 2 317 9
Minimum Value: & Range:_STz_ 510058
lower Quartile: 39 IR: 1T XEY 2 | 6= 26 minuies
Median: _3_3_
Upper Quartile: l

Maximum Value: i

12. Display the datain a box-and-whisker plot.

] * :

} ] } } ! | | | i | | | | | } | !
<I 1 | t | | I | | L I | ! | i I l

|
|
24 2 28 30 32 34 36 38 40 4L 4 Hb 4 S 52 H I 53

>

13. Display the datain a frequency table. Interval Frequency
20-29 2 £ =35 = ot
30-39 i % = 48P,
Ho-4q Y _ZE. .:'r 264
50 -89 H % :-_,1- = 1o,
14. Display the data in a histogram 15. Display the datain a circle graph.
Tes+ Time
4 p-29
10 (24 y
3
L 30-39
'4
y Hof,
2

© Gina Wilson (All Things Algebra®, LLC), 2020



Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

Usiing Viuklpte
DATA DISPLAYS

The heights, in inches, of a random group of students are given below.
Use this data to create the four data displays below.

{65, 59, 63, 68, 62, 65, 60, 62, 4, 62, 60, 65, 59, 62)
Dot Plof Bl oxandWwhisker Plot

[ 4 [
] 1
T T

[ I I I [N NN UUUNNY FUN NSNS N UUUH M—
L AN RN B R BN SR BENNY SENNNY B N B

¢

L]
] <
Ll 1 7 w

58

. 0 bz 4 W B TO W 2 WH W b o
Stem-and-Leaf Plot D Histogram
6
Stem | Leat . )
5 99 24
b 00222234550 % g 2
]

59-60 61-62 63-64 65-66 67-68
k Heights (inches)

1. Without actually finding the values, in which of the data displays above
are you able to identify the following measures if asked?

Mean: Median: Mode(s):
AC AB\C ALC

Min Value: Lower Quartile: Range:
AB,C AB,.C A\B.C

Max Value: Upper Quartile: IQR:
A)B)C’ A,B,O A|B,C

Cheosing o
DATA DISPLAY

2. Determine whether the data display shows individual data, distribution
of data, or both.

Data List: 'ndl\/ldu[d d!l

Box-and-Whisker Plot: dist. of
data_

Dot Plot: bo-‘—h Histogram: d\&‘f‘- bf ola.Jnx

Stem-and-Leaf Plot: bo'('h

Circle Graph: dis-}—, of ola;lm

3. Which data displays do not give ANY individual values?

Civde Gvaphs +  Hishgrams

© Gina Wilson (All Things Algebra?®, LLC), 2020



Ynteyreting MULTIPLE DATA DISPLAYS

The golf scores of six groups of golfers in a single round of golf are given displayed below in varying
ways. The number of golfers in each group differs. Answer the questions below using the displays.

Group A Scores

L

[ ]
i 1 1
<« T T

70 72 74 76 78

Group B Scores

{83,77,71,76,71,78,75, 73, 80}

Group C Scores

—it

+————

68 7 72 74 76 78 80

Frequency

70-72 73-75 7677 7880
Golf Scores

Group E Scores

12%

20% 70-72
73.75

76-77
247 1l

(] 7e-80

There are 25 golfers in Group E

Group F Scores

Stem | Leaf

00 N

[ Key: 6 |8= poinis]

1. Identify the groups that you are able to identify the following measures:

Mean: Alg F Median: A B,C, ¥ Mode(s): A, B, F
MinvValve: 4 R .0, F Lower Quartile: A R ¢, F |Range: A B¢, F
Max Value: A.B ‘éA F UpperQuartile: o g ¢ . F IR A B,C,

mean score in Group F.
A:4
F: s

2. Compare the mean score in Group A to the

F has o hightr
méan.

B:6
C:4

3. Compare the median score in Group B to
the median score in Group C.

C has & Swaller
medion .

4. Compare the range in Group B to the range

range.

in Group F.
B:12 Fhas a greater fi3
Filb 3:4

5. Compare the interquartile range in Group A
to the interquartile range in Group C.

B has a greatt-
TeR.

6. Which group has the golfer with the lowest

7. How many golfers in Group E had a
maximum score of 752

? 60\‘?0\(5

score?
vowp ¥ 25
61 P X0.32
. 4 %
8. How many golfers in Group D scored higher
than 72% 73-77%2
15 3
2 = ==

9. What percent of the golfers in Group D scored

15

® Gina Wilson (All Things Algebra®, LLC), 2020



Data Displays Mazel

Directions: The scores of 6 classes on the same math test are displayed in various ways below.
Answer each question using the data in the displays. Staple all work to this paper!

{90, 95, 80, 75, 65, 80, 95, 90,
90, 100, 80, 90, 45, 95, 90, 100}

Class 2 Scores

40 45 50 55 40 45 70 75 80 85 90 95 100

Class 4 Scores

Stem
6

0
710
810

0
0

9
10

Frequency

61-70 71-80 81-90 91-100

Scores

Class 3 Scores

Stee

10%

61.70
[ 7-s0

1] 81-90

(I #1-100

20%

25%

There are 20 students in Class 6.

gy Startly

e

What is the . A~ What is the How many
median score 90 What is the mean range of scores students scored at
in Class 32 scorein Class 12 | \orrt | in Class 42 least 81 in Class 52
85 Y\ 8 % 45 x @
. What is the How many What is the
What is the mode .
score in Class 12 @ interquartile @ students scored median score
range in Class 32 71-80in Class 62 in Class 2¢

)
j/

What is the mean

score in Class 4¢ 80

of the students
in Class 5 scored

16

students scored
higher than 70 in

( 90) 20 30 7 95
What percent of :
the students in @ ror\:vgr:ec:);ssg:oeres What is the mean What s the mode
Class 5 scored in Class 22 score in Class 32 score in Class 42
at most 902
75 Y - V | 75 | k @
What percent How many

What is the lower
quartile in Class 12

85 10

o)

Endl

O,

quartile in Class 12

range in Class 42

61-702 Class 62
G DI =T
) —
What is ih What is the How many
at is the upper 15 interquartile 6 students scored

no more than 80
in Class 52

© Gina Wilson (All Things Algebra®, LLC), 2020



Name:

Date: Per:

Unit 8: Data & Statistics

Homework 8: Comparing Data Displays

** This is a 2-page document! **

Directions: Indicate whether each statement is true or false.

1. The mean of a set of data can be identified given a circle graph. F&;LS e
2. The upper quartile of a set of data can be identified given a stem-and-leaf plot. -va ‘
3. The median of a set of data can be identified given a box-and-whisker plot. —rm e
4. The range of a set of data can be identified given a dot plot. True
5. The mode of a set of data can be identified giveh a histogram. F_— S e
6. The interquartile range of a set of data can be found from a stem-and-leaf plot. True
7. The maximum value of a set of data can be identified given a circle graph. F adse
8. The number of data values can be identified from a histogram. Tvue

Directions: The high temperatures from May 1-14 in two different cities is given below. Use the data
to answer questions 9-12. Write “not possible” if you are unable to compare the data.

City A High Temperatures:

(72,78, 64,75, 67, 61,74,
54,74,68,74,77, 66, 76}

54,01, W 12,794, 74,734,175 e,

City B High Temperatures:
> | S m—
-l J 1 I 1 1 ] [l [l l ] 1 L
| 1 1 I I i I | I i I i L
64 65 66 67 68 69 70 71 72 73 74 75 76

g

9. Compare the mean high temperature in
City A to the mean high temperature in
City B.

A-10 :
| Not Possible

10. Compare the median high temperature in
City A to the median high temperature in
City B.

A-13
B: !

A has a |Mgt’r
Wmediom -

11. Compare the range of high temperatures in
City A to the range of high temperatures in

City B.
A has a

A 24
Bl QTW-V‘DMQf-

12. Compare the interquartile range of high
temperatures in City A to the interquartile
range of high temperatures in City B.

k:9 B has a smaller
R: 1 IQRr.

® Gina Wilson {All Things Algebra®, LLC), 2020




Directions: The weights of the wrestlers on two wrestling teams, Team A and Team B, are displayed
below. Use the data to answer questions 13-15. Write “not possible" if you are unable to compare
the data.

Team A Weights: Team B Weights:
o Stem | Ledf
1215 9
§ 13]0 4 9
%’_ 1411 2 47 7 9
2 15/0 4 5509
1612 37 8

| Key: 12| 5 =125 pounas |

Weights (pounds)

14. Compare the number of wrestlers on Team
A to the number of wrestlers on Team B.

A- 28
B:20

13. Compare the mode weight on Team A to
the mode weight on Team B.

fre NO-}'

. B has a
B: 147,155 Possible

Smaller +eam.

15. Compare the percent of the wrestlers on Team A who are at least 140 pounds to the percent of
wrestlers on Team B who are at least 140 pounds.

+ |3 : 15
A "L— = 5210 e - ;%‘ =81
26 0

Team B has a higher putentage .

Directions: Check the data displays that can be constructed from the indicated display.

16. List of Data Values 17. Circle Graph 18. Dot Plot

M List of Data Values
M/ Stem-and-Leaf Plot

IB/ Dot Plot
Stem-and-Leaf Plot

Q List of Data Values
Q Dot Plot

Box-and-Whisker Plot

0O Stem-and-Leaf Plot

ﬁ Box-and-Whisker Plot

E( Histogram O Box-and-Whisker Plot o Histogram
Circle Graph o Histogram Circle Graph
19. Stem-and-Leaf Plot 20. Box-and-Whisker Plot 21. Histogram

G/Lis'r of Data Values
Dot Plot

Iﬂ/ Box-and-Whisker Plot
Histogram

o Circle Graph

List of Data Values
Dot Plot
Stem-and-Leaf Plot
Histogram

Circle Graph

R Iy Iy

Q List of Data Values

QO Dot Plot

Q Stem-and-Leaf Plot

QO Box-and-Whisker Plot
E’ Circle Graph

® Gina Wilson (All Things Algebra®, LLC), 2020




Unit 8 Test Study Guide Name:
(Data & Statistics) Date: Per.

Topic 1: Measures of Center & Range

Find the mean, median, mode(s), and range for each of the following data sets.

1. The time, in minutes, it took students to complete a test: Mean:
{36, 27, 42, 31, 33, 39, 52, 42, 31} 37
2.1,3I,3l,33,3(p,3‘1,42,42,52 Median:

+ 30
Mode(s):
q Rcmg{ =82-21 =25 Range:
25
2. The maximum wind speeds of six hurricanes: {125, 110, 115, 145, 145, 180} Mean:
o, US| 1 25, 145, |65, %0 v ].H,O
———_ edian:
Mean= 840 _ |4 135
b Mode(s):
None
- _ Range:
ange = 180 -11p = 1o

Range o =1 A

3. The number of days that certain homes were on the market Identify the Outlier:
before selling are given below. ldentifier the outlier, then find
the measures with and without the outlier. With Outlier Without Outlier
{17,12, 28, 21, 14, 74, 32, 14, 25, 23} Mean: Mean:

ll‘l‘—l"qi‘—]lz\l23125.28l32‘7"{ 2[0 20(4
N Median: Median:
Mean= 200 _ =4y = 22 2|
1o Z(” Qa V\g ¢ 7‘+ l 2 t” 2 Mode(s): Mode(s):
- - - - — — — 4 H 14
1Z, 'Lll I 71 20 23) 7—5, 28,32 Range: Range:
Mean= 5 =200 b2 20

4. Create a list of 6-8 data values in which the given measure of center would be most

approporiate for and explain why.

Center List of Data Values Why is this center best for this data?
Mean |5,7,3,9,4, ,5,8 No putters

Median | {| (7,10, IS} 13, 5L, 17, (9 56 1S an pwtier
Mode | |, i,z 4 44,7, H 4 veparts Many Fimes




The mean, median,

5. A customer service center added a 2-minute | 8. The orchestra plans to play 8 pieces for a

gquestionaire to the beginning of each service concert, each of different lengths. If they
call. How does this affect the mean, median, decide not to play the longest piece, how wiill
mode, and range length of the service calls¢ this affect the mean, median, mode, and

IMlrease oy 2 winwics . The, :
roungs would wag ‘\’NSSOLW~ mode will ot OV\OWVW-

range lengths?e

I The wean, median ; and
range will ol detraase. The

Topic 2: Dot Plots & Stem-and-Leaf Plots

7. The shoe sizes of the people in a fitness class are shown in the dot plot below.

A

4 ooe
1T 0000
X

o4 e

N4 ee
©-1ee

®
9 10
Shoe Sizes

a) Compare the median and mode shoe sizes.
6L, 1S85185 8,8, 9.5 8.5,8.5, 8.5.‘1,‘%.5" 1]

Median=3 The wode i<
Mode = 8.S grmjcrmmjl’k@

b) How many people have a shoe size of at least 82

Q pcoe\ez

8. The ages of the players on a socc

er team are shown in the stem-and-leaf plot below.

Ages of Soccer Players

a) Whatis the mean?
18,19,21,23,25,25,24, 271, 3o, 32,32_‘3-[

Mean = .§.L7;- = 20
\2Z

{ Key: 1| 8= lSyeorsJ

b) How many players are younger than 302

8 players

Topic 3: Mean Absolute Deviation

Find the mean absolute deviation of

each set of data.

9. Data Set A: (28, 16,26, 22,18}
Mcan = i's—o— =22

MaD = bt bt Hyo+H

10. Data Set B: {114, 158, 121, 215, 167}

Mean = ____’7;5 = |5S

MAD = 41+ 3+ 34+ 0b0+ 12

Y

5

= |50
5«30

® Gina Wilson (All Things Algebra?®, LLC), 2020



11. In the previous two questions, is the the mean absolute deviation of Data Set A less than, greater
than, or equal to the mean absolute absolute deviation of Data Set B2 What does this mean
in comparing the data values in each set?

The MAD pn #* 9 ig \gsS Yhan the MAD gn # 0. Since
Tht MAD on ¥ 4 is Closer o 260, it shows less of a
VOV hion 10 Hhe dotn.

Topic 4: Box-and-Whisker Plots

Draw the box-and-whisker plot, then give the five-number summary, range, and IQR.

12. Wait time, in minutes, of 9 rides at an amusement park: - .
{28, 40, 18, 25, 20, 16, 36, 21, 32} Minimurm: J{L
18, 20,21,25,28%, 32, 36,40 Lower Quartile: __19
e~ /r -~ Median: 25
Upper Quattile: 3%
) Maximum: HD
SR R T SR SR SN M| I DU R [ NN W I S T Ronge:_zl:l_
~ 1 | 1 U I I 1 1 I | | I I I l L ) 15
0 12 M v 1Y 2220 2% % 30 32 34 3 38 Ho 4% IQR: _I2
13. Number of cars sold each month by a salesman in a single year: Minimum: 3
{4,15,20,12,7,13,24,16, 10, 8, 18, 13} —
‘1."],3, Io,\Z:‘3113-'§.lb,13l20,24 Lower Quartile: fl
e er\/ e Median: _{3
Upper Quartile: _17
R Maximum: _2 ‘
P | l [} } [l [l ] i | 1 | [l | | ] 1 L Ronge: ZO
D | 1 i 1 J | I 1 | I I | I I 1 ) | ) g
0 2zd v 8 o 2MH jwig 2 2224 2 2% D 32 IQrR: 2

Topic 5: Histograms

14. The data below represents the salaries, in tens of thousands of dollars, of a group of employees.
Organize the data in a frequency table, then make a histogram to display the data.

{53, 58, 45, 68, 41, 35, 60, 47, 54, 56, 36, 49,

446, 38, 52, 42, 57, 63, 50, 45, 55, 60, 51, 43} 10
Interval Frequency 3
30-34 3 Ry .
Yo -9 e HH1 y
50-59 g HHI Ry

b0 -LA 4 Y

30-39  4ouq  50-69  (0-L9

® Gina Wilson (All Things Algebra®, LLC}, 2020



season.

15. The histogram below shows the number of interceptions thrown by a group of quarterbacks in a

Quarterback Interceptions

Frequency

-6 7-12 13-18 19-24 25-30

Number of interceptlions

a) How many quarterbacks had more than 12 interceptions?

30 quanterloacks

b) What percent of the
quarterbacks threw 19-24
interceptions?

LI
5D 5

207 |

c) What percent of the
quarterbacks threw no more
than 18 interceptions?

3% - e
50 10D

767

Tople é: Circle Graphs

the table below. Make a circle graph to display the data.

Number
Subject | of students .
English 15 3 5204
39, =13 .
Math 39 3% 2 = 52%
i A - 3 _
Science 9 i A 122
Social Studies 12 Z .4 .
U 28 ‘o)

16. A group of students were surveyed and asked their favorite subject. The results are shown in

Favoritt Subjyeer

17. The circle graph below shows the distribution of ages of the 125 police recruits in an academy.

Police Recruit Ages

4%

([ 21-2s [ 31-35
26-30 36-40

a) How many of the recruits are
36-402

125
x 0.04
500

(5%&Wﬁ

b) How many of the recruits are
at most 30 years old?

125
XD.bS

|000
16500

85.00

@5%Mw@d

© Ging Wilson (All Things Algebra®, LLC), 2020




Name:

Unit 8 Test

Date: Per: Data & Statistics

1. The data below represents the total number of points scored by the eight AFC football teams in
the NFL last season. What measure is the greatest?

{419, 314, 279, 306, 531, 289, 335, 279}

219,279, 289, 30k, 314,335,419, 53]

\/W
mean =

344
median = 3)0
. mode = 27149

range = 252 A

o0 % »

2. A taxi driver recorded the number of miles
she drove each day for a week. What is the

3. The maximum depth, in feet, of the Great
Lakes is given below. What is the range of

mean number of miles driven? depths?
Day Miles Great Lake Mg);lg;::m
Monda 186 0
Toesd Y 155 _8_7___ Lake Michigan 925
uvesda
Wed dy 210 5 Lake Huron 748
ednesda
Thorsd Y Tea Lake Ontario 804
ursda
Fid Y 155 Lake Superior 1,333 |-
rida
Y Lake Erie 210
174 M [123 £+

4. The hourly wages of a group of people are
given below. Find the median wage.

5. Two data sets are given below. Which
statement is true?

Hourly Wages SETA {72, 98, 50, 81, 64} 73}1
stem | Leaf SETB {83. 40,72, 65,90,76} (1 )‘)°
0|89 ; .
11lo22455¢8 A. The mean of Set A is less than the
mean of Set B.
2011478
3lo2s B. The median of Set A is greater than
the mean of Set B.
KEY: 0 | 8= %8 per hour C. The mean of Set A is equal to the

median of Set B.

A. $15 perhour
C. $17 per hour

B. $16 per hour D

. The median of Set A is equal to
D. $18 per hour (‘, 6

the mean of Set B.
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6. For which dot plot is both the median and mode equal to 272

A. [ ]
o [ [}
[ J [ L ] [ ] [
<l 1 ! ! 1 ! 1 L
<« t ¥ T T T 1 —>
23 24 25 26 27 28 29 30
C. o
[ ] [ ] [ ]
[ o [ ]
: !

Y

i)
] 1 )
23 24 25 26 27 28 29 30

o [ ]
® © e o
o o e e o e
——tt >
23 24 25 26 27 28 29 30
o
e ©
[ ] ® e e ¢ o
-—— Attt
23 24 25 26 27 28 29 30 D

7. The table below gives the number of new memberships at a gym each month from January
through June. If the number of memberships in January are removed, which statement is true?

oth New Mean - 100 S w2
Memberships Med: US =2 (O
January 290 - Mod{‘. ko = (Pe}
February 60 A. The mode is affected more than the median.
March 70 B. The median is affected more than the mean.
April 45 - C. The mode is affected more than the mean.
May 60 D. The meanis affected more than the median. D
June 75 ¢

8. Determine whether the mean, median, or mode would be the most appropriate measure of
center for each list of numbers below. Write the letter of the measure in the box beside each
list. Each measure can only be used one time.

A: Mean B: Median C: Mode

B List 1: {7. 40, 42, 45, 48, 50, 55}

C List2: {12,12,9,12,5,12,12}

A | ust3: (13,16,18,20, 24, 27, 29}

9. Which action would cause the range of the
list of numbers below to increase?

{16, 20, 28, 40, 45}

Adding § to each data value.
Multiplying each data value by 2.
Adding a sixth data value of 45.

°o0w®»

Removing 16 from the data list.

10. Which list of values would likely have the
smallest mean absolute deviation?

A. {121,122, 123, 124, 125}
B. {4.8, 17,2026

C. {10, 20, 30, 40, 50}

D. {2.4,6,8, 10}

A
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11. The table below shows the total number of miles that six runners ran last month. What is the

mean absolute deviation of the miles ran?

- A. 14
Name Miles Ran Mtan = 5“8’8" = 9<
L B. 15
Mitch 95
Kelsey 126 c. 16
=3+ 234 13 4
Jamie 48 MAD= 3 3+30+ 13+ 442 D. 17
Rory 11 b
Liam 102 O
Antonio 86 — =15 B

12. The data represents the miles that the employees at a company live from work. Represent
the data as a box-and-whisker plot, then identify each value to the right.

2

{8, 20, 3,15,12,10, 4, 26,13, 6, 2,18, 35, 16, 12} Minimum Value =

Lower Quartile = _Q__

2,324,0,8,10,12,12,13, 'sl”"gl 29, 26,35

Ir

®

Median=_1 2
Upper Quartile = 19

Maximum Value = 35
Range=_33

Interquartile Range = __ 12

>
>

!
|
0 4 8 12 16 20 24 28 32 36 40

13. Which box-and-whisker plot best represents the following values:

(11,19, 7, 21, 16, 24, 10, 4, 18, 14} ;l__.’l. 4 ,uo,(z, 2024

A. 4 r L a— B. [ —
A —p—4> Attt
4 6 8 10 12 14 16 18 20 22 24 4 6 8 10 12 14 16 18 20 22 24
C. — ] —— D. — 4 —o
<l ] [ [ [ [] l 1 [ [l [ <l [ 1 I3 [ ] [ I [ 1 | IR
I | L) I 1 1 ¥ L) 1 1 1 r ~ T T ¥ 1 ¥ ) ) 1 1 Lk
4 6 8 10 12 14 16 18 20 22 24 4 6 8 10 12 14 16 18 20 22 24 D

14. The box-and-whisker plot below compares the tests scores of two different classes.
Which measure is the same in both classes?

Class A

A. median
A .
40 45 50 55 60 65 70 75 80 85 90 95 100 B. lower quartile
D. interquartile range
Class B Q 9 D
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15. The maximum heart rates, in beats per minute, of 25 people in an aerobics class is given below.
Organize the data in a frequency table, then use the table to create a histogram. Label all
parts of the histogram.

Maximum Heart Rate (bpm)
172 180 155 167 170 1o

149 179 175 160 162

186 178 159 171 167 g
163 155 182 168 152

178 165 151 160 168 g\u

S

Interval frequency é Y
4o 144 ! \=

15 - 159 5 z
wo-bg | 9

{10 -9 1 o449  I1-159  lwo-1bq  Ne-11q  180-189
{80 - 189 3

Heavd Rade

Use for questions 14-17: The histogram below shows the ages of the students who submitted
artwork to a competition sponsored by an art museum.

14. How many students submitted artwork?

Ages of Student Arists

S+23+20 + 324 |y
(2D

17. Of the students who submitted artwork, how many
are at most 12 years old?

Frequency

46 79 1012 13-15 16-18 2 4+ 28+ 30
Age (years)

12

18. The scores of two classes on a math test are shown below. If the data from the two classes
are combined, what percent of the students scored at least 802

Class A Scores A. 62%
Class B Scores B 647
stem | Leat . (3
> 6{1s 2 C. 68%
g 712558 3 - L4
g 8{134668%9 —_— = — D. 70%
= 922578 50 160
10|00
60-69  70-79 80-89 90-99 KEY: 6 | 1= 61

Scores B
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19. A group of 60 students at a summer camp could choose one of four activities for the
afternoon. Their choices are shown in the circle graph to the right. Check two activities that
represent the choice of exactly 27 students?

Afternoon Activities 0 Lo Lo
10% R0 x5 X3S
TINGIS% 0D 200D
b 00
e Y-
9.00
40%
Lo
15%
XOHOOO
[] nishing =q [[I] swimming 2400
R4 arts & crafts hiking = 2| —24.00

=V

20. Last week, Mariah made $30 from babysitting, $250 working at the grocery store, and $120
from working at the library. She used the money for bills, gas, and groceries, then saved the
rest. The circle graph below shows the distribution of her earnings. How much did she spend

on groceries?

Yoo
28% . .8% 10% X 0'280 A. $112
° /0.0:0 s o Z—O
bills ‘%o 50 B. $116
as — C. $124
° |12.00
groceries D. $132
savings

54%
A

21. The histogram below shows the class sizes of randomly selected classrooms at Edgewood
Middle School. Use the data from the histogram to make a circle graph. Label all parts of your

circle graph.
Class Sizes 1-20: 32 =
25
.4 -
> - o m—— -
3 21-24° o3
5 W
¢ -8 == <
g 25 5
RIS

17-20 2124 2528 29-32 29-32:
Number of Students

N
)
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